
EEI-5873
V1.03.05.22



LHF Sofa Seat  

Le� Arm                    

Right Arm                 

LHF Sofa Back                 

Back Cushion Core

Back Cushion Cover

Pillow              

RHF Chaise Seat 

RHF Chaise Back

Front Legs     

x1

x1

x1

x1

x3

x3

x2

x1

x1

x4

Bolt M8 x 60mm        x4

Flat Washer M8        x4

Allen Wrench M5            x1

30

Wait!

Back Legs                     

Middle Leg              

x4

x1

L Shape Metal  x2

Bolt M6 x 60mm           x12

D

E

PAGE 2 0F 8



Unzip the bottom cover and locate the Right Arm (3) + 1 Back Cushion 
Core (5) + 1 Back Cushion Cover (6) and RHF Chaise Back (9). 

CO M P O N E N T S

x1Back Cushion Core5

x1Back Cushion Cover6

x2Pillow7

x4Front Legs10

x4Back Legs11

x1Middle Leg12

8

CO M P O N E N T S

x1Le� Arm2

x1Right Arm3

x1LHF Sofa Back4

2

x1RHF Chaise Seat8

x1RHF Chaise Back9

Unzip the bottom cover and locate the 1 Back Cushion Core (5) + 
1 Back Cushion Cover (6) + 2 Pillow (7) + 4 Front Legs (10) + 4 Back 
Legs (11) and 1 Middle Leg (12) . 

1

5+6

x1LHF Sofa Seat1

x2Back Cushion Core5

x2Back Cushion Cover6

PAGE 3 0F 8



8

1011

12

1011

11 11

10 10

x2Bolt M8 x 60mm

H A R DWA R E

CO M P O N E N T S

A

x2Flat Washer M8B

x1Allen Wrench M5C

x2Front Legs10

x2Back Legs11

x1Middle Leg12

x1RHF Chaise Seat8

FrontBack

1

x2Bolt M8 x 60mm

H A R DWA R E

CO M P O N E N T S

A

x2Flat Washer M8B

x1Allen Wrench M5C

x2Front Legs10

x2Back Legs11

x1LHF Sofa Seat1

PAGE 4 0F 8



CO M P O N E N T S

x1Le� Arm2

CO M P O N E N T S

Step 5

Step 6

1

2

x1LHF Sofa Seat1

2

4

1

x1Le� Arm2

x1LHF Sofa Seat1

x1LHF Sofa Back4

PAGE 5 0F 8



CO M P O N E N T S

CO M P O N E N T S

Step 7

Step 8

3

8

RHF Chaise Seat Front

x1RHF Chaise Seat8

x1Right Arm3

x1RHF Chaise Seat8

x1Right Arm3

x1RHF Chaise Back9

3

8

9

PAGE 6 0F 8



Step 9

Step 10

1

1

4

4

8

8

9

9

x2L Shape Metal

H A R DWA R E

CO M P O N E N T S

D

x12Bolt M6 x 60mmE

x1RHF Chaise Seat8

x1RHF Chaise Back9

x1LHF Sofa Back4

x1LHF Sofa Seat1

CO M P O N E N T S

x3Back Cushion Core5

x3Back Cushion Cover6

5+6 5+6 5+6

77

x2Pillow7

PAGE 7 0F 8



Step 11

PAGE 8 0F 8

Your Apartment Sectional is complete.

CO M P O N E N T S

x1RHF Chaise Seat8

x1LHF Sofa Seat1

1 8


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

